| Review Lessons 7.1 — 7.3 Worksheet Name: Y, E\l

Graph the function. Then state the domain and range.

1) y = 0.6e*=2

Y\%Y“z \j-_ Obex
- A
X1
-710.0%
4 ) 10.22
e 0 0.9
; NARE
‘ | 4.43
311205
- domain: _k'ﬁl_{r)o) domain:A~ % ‘PO) -
range: ( Oi af/\o) range: (\0 ‘ )d)
= p—2(x+1) _ — 4 e %=1 _
3) f(x) —.e -2“1%}\ 3 Jown 3 " 4.) y: | 4 :ylzjlv}{'l ‘%aown 3 4.7
‘ S ; 1 | . i \5 s e i 7.7 : j‘: -: 'j ’l ‘7:‘ 15 <
) | X1\
\ A - S i s e “3 0.5
—&—‘*——“—4‘“ ——t = 3 = Tt ol 7 ': -]\
et B ey | 1 i s” = | &
\ Lo ‘ ’ IS B o SRR , 0 |4
- \J e Rdaaspeynas iy R
| ‘ - \ \Q.\Uf T z | 1Y)
00t _
domain: _L;ﬁ J__?O)ﬁ & domain: L po' P’O)
| range: __L/j)ﬂpo> FAngs: K- ) ¢ po)
Simplify the expression.
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9.) You deposit $3300 in a bank account. Find the balance after 5 years for each of the
situations described below.

a.) The account pays 5% annual interest compounded semiannually.

f= 3300 (14 ) \*%zzng]

b.) The account pays 4.9% annual interest compounded monthly. _
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¢.) The account pays 4.8% annual interest compounded daily.
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d.) The account pays 4.7% annual interest compounded continuously.
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10.) The population of a city decreased from 1995 to 2007 by 1.5% annually. In 1995 there
were about 357,000 people living in the city.

a.) Write a model that represents the city’s populauon y as a function of ¢ years since

1995. - 351, 000() - 0.01%)°
H 2 257,000 (0.489)°

b.) Find the approximate population of the city in 2003? - t =3

Y = 357,000 (0.485)°
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11.) The owner of an ong:ma copm8 comic book sold it at an auction in 2005. The

owner bought the comic book for $55 in 1980. The value of the comic book increased at
a rate of 2.8% per year.

t

a.) Write a function that models the value‘e/ of the comic book over time 7.
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b.) What was the a proxnndtﬂcﬂ:alue ofthe comic book at the time of the auction in
2005? (1028
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¢.) In approximately what year will Lhe co)mlc book be worth $150 f"/L\)\/\
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